
DERO DUPLEX

Installation Instructions – Setbacks for Configurations

14”
60”

(48” min.)
67”

102”

14”
60”

(48” min.)
119”

102”

Single sided setbacks

Double sided setbacks

20020 Hickory Twig Way | Spring, TX 77388  |  Toll Free:  1-877-857-2915



DERO DUPLEX

Installation Instructions – Parts List

DUPLEX LOWER UNIT

DUPLEX UPPER UNIT WHEEL CATCH SPACER

WHEEL CATCH

CONNECTOR BASE

CONNECTOR TOP

3/8” x 3.25” BOLT

3/8” x 3.25” CARRIAGE BOLT

3/8”  NUT

3/8” PENTA NUT

3/8” WASHER

3/8” WASHER

3/8” WASHER

20020 Hickory Twig Way | Spring, TX 77388  |  Toll Free:  1-877-857-2915



Top Connector

Base Connector

3/8” Nut

3/8” Washer

3/8” Washer

3/8” x 3.25” Bolt

Duplex Upper Unit

3/8” Penta Nut

3/8” Washer

3/8” x 3.25” Carriage Bolt

Wheel Catch Spacer

Wheel Catch

Place the first DUPLEX LOWER UNIT and attach 
CONNECTORS with hardware.

Continue repeating steps 1 and 2 as necessary. Place WHEEL CATCH and SPACERS and attach 
with hardware. Repeat for all trays.

Drill the holes in accordance with the 
specifications shipped with the anchors.  Make 
sure the holes are at least 3” away from any 
cracks in the base material.

1

3 4

2

DERO DUPLEX

Installation Instructions

Be sure to use (2) tamper-
proof penta nuts to secure 
wheel catch

14”

8.5”

Secure the DUPLEX ASSMBLY with 3/8” WEDGE 
ANCHORS. Secure at the first and last pair of 
bases and then every other pair of bases.

For double sided assemblies, simply place two 
single sided assemblies back to back with a 14” 
overlap.

5 6

20020 Hickory Twig Way | Spring, TX 77388  |  Toll Free:  1-877-857-2915


